

ΑΣΧΗΣΗ 3V (σφ. 113)

$$y''' - 3y'' + 3y' - y = x^2 + 5e^x$$

ΛΥΣΗ

$$(E_0): \lambda^3 - 3\lambda^2 + 3\lambda - 1 = 0$$

$$(\lambda - 1)^3 = 0$$

$$\lambda = 1 \quad \text{πολ/τα } 3$$

$$B_{E_0}: \{e^x, x \cdot e^x, x^2 \cdot e^x\}$$

$$(f_1): y''' - 3y'' + 3y' - y = x^2$$

$$\text{Θέτω } y_{\mu}^{(1)}(x) = \alpha x^2 + \beta x + \gamma$$

$$-3 \cdot 2\alpha + 3(2\alpha x + \beta) - \alpha x^2 - \beta x - \gamma = x^2$$

$$-6\alpha + 6\alpha x + 3\beta - \alpha x^2 - \beta x - \gamma = x^2$$

$$-\alpha x^2 + (6\alpha - \beta)x - 6\alpha + 3\beta - \gamma = x^2$$

$$\alpha = -1$$

$$6\alpha - \beta = 0 \Rightarrow \beta = 6\alpha = -6$$

$$\gamma = -6\alpha - 3\beta = 24$$

$$\text{Άρα } y_{\mu}^{(1)} = -x^2 - 6x - 12$$

$$(f_2): y''' - 3y'' + 3y' - y = 5e^x$$

$$\text{Θέτω } y = z e^x$$

$$z''' \cdot e^x + 3z'' \cdot e^x + 3z' \cdot e^x + e^x z - 3(z'' \cdot e^x + 3z' \cdot e^x + z e^x) + 3(z' e^x + z e^x) - z e^x = 5e^x \Rightarrow$$

$$\Rightarrow z''' + 3z'' + 3z' + z - 3z'' - 6z' - 3z + 3z' + 3z - z = 5$$

$$\Rightarrow z''' = 5 \Rightarrow z(x) = \frac{5}{6} x^3$$

$$y_{\mu}^{(2)} = \frac{5}{6} x^3 \cdot e^x$$

$$\text{Έτσι } y_{\mu}(x) = y_{\mu}^{(1)}(x) + y_{\mu}^{(2)}(x)$$

ΠΑΡΑΔΕΙΓΜΑ 5

$$y'' - 2y' + y = \frac{1}{x} e^x, x > 0$$

ΛΥΣΗ

$$\text{ΟΜΟΓΕΝΗΣ (f_0): } y'' - 2y' + y = 0 \xrightarrow{\lambda} \lambda^2 - 2\lambda + 1 = 0 \Rightarrow$$

$$\Rightarrow (\lambda - 1)^2 = 0 \Rightarrow \lambda = 1 \text{ διτλή}$$

$$\text{ΒΑΣΗ } \{e^x, x e^x\}$$

$$W(x) = \begin{vmatrix} e^x & x e^x \\ e^x & x e^x + e^x \end{vmatrix} = e^{2x}$$

$$W_1(x) = \begin{vmatrix} 0 & x e^x \\ 1 & x e^x + e^x \end{vmatrix} = -x e^x \quad \& \quad W_2(x) = \begin{vmatrix} e^x & 0 \\ e^x & 1 \end{vmatrix} = e^x$$

$$y_{\mu}(x) = y_1(x) \int_1^x \frac{-s e^s}{e^{2s}} \cdot \frac{1}{s} e^s ds + y_2(x) \int_1^x \frac{e^s}{e^{2s}} \cdot \frac{1}{s} e^s ds =$$

$$= e^x \int_1^x (-1) ds + x e^x \int_1^x \frac{1}{s} ds =$$

$$= e^x (-x + 1) + x e^x \cdot \log x$$

$$y(x) = c_1 e^x + c_2 x e^x + y_H(x)$$

ΕΞΙΣΩΣΕΙΣ EULER

$$a_n x^{\nu} y^{(n)} + a_{n-1} x^{\nu-1} y^{(n-1)} + \dots + a_1 x y' + a_0 y = 0$$

$a_i \neq 0, a_i \in \mathbb{R} (i=0,1,\dots,n) \quad x > 0 \vee x < 0$

• $x > 0$ \rightarrow ορίζω $t = \log x \Leftrightarrow x = e^t$

$$y' = \frac{dy}{dx} = \frac{dy}{dt} \cdot \frac{dt}{dx} = \frac{1}{x} \frac{dy}{dt} \Rightarrow x y' = \frac{dy}{dt}$$

$$y'' = \frac{d^2 y}{dx^2} = \frac{d}{dx} \left(\frac{dy}{dx} \right) = \frac{d}{dx} \left(\frac{1}{x} \frac{dy}{dt} \right) = -\frac{1}{x^2} \frac{dy}{dt} + \frac{1}{x} \frac{d}{dx} \left(\frac{dy}{dt} \right)$$

$$= -\frac{1}{x^2} \frac{dy}{dt} + \frac{1}{x} \frac{d}{dt} \left(\frac{dy}{dt} \right) \frac{dt}{dx} = -\frac{1}{x^2} \frac{dy}{dt} + \frac{1}{x^2} \frac{d^2 y}{dt^2} \Rightarrow$$

$$\Rightarrow y'' = \frac{1}{x^2} \left(-\frac{dy}{dt} + \frac{d^2 y}{dt^2} \right)$$

$$\text{Αρα, } x^2 y'' = \frac{dy}{dt} + \frac{d^2 y}{dt^2}$$

$$y''' = \frac{d^3 y}{dx^3} = \frac{d}{dx} \left(\frac{d^2 y}{dx^2} \right) = \frac{d}{dx} \left(\frac{1}{x^2} \left(-\frac{dy}{dt} + \frac{d^2 y}{dt^2} \right) \right) =$$

$$= -\frac{2}{x^3} \left(-\frac{dy}{dt} + \frac{d^2 y}{dt^2} \right) + \frac{1}{x^2} \frac{d}{dx} \left(-\frac{dy}{dt} + \frac{d^2 y}{dt^2} \right) =$$

$$= -\frac{2}{x^3} \left(-\frac{dy}{dt} + \frac{d^2 y}{dt^2} \right) + \frac{1}{x^2} \frac{d}{dt} \left(-\frac{dy}{dt} + \frac{d^2 y}{dt^2} \right) \frac{dt}{dx} = \frac{1}{x^3}$$

$$\Rightarrow x^3 y''' = 2 \frac{dy}{dt} - 3 \frac{d^2 y}{dt^2} + \frac{d^3 y}{dt^3}$$

ΠΑΡΑΔΕΙΓΜΑ 6 (ΟΕΔ 112)

$$x^3 \cdot y''' - x^2 y'' - 2xy' - 4y = 0$$

ΛΥΣΗ

$$2 \frac{dy}{dt} - 3 \frac{d^2y}{dt^2} + \frac{d^3y}{dt^3} - \left(-\frac{dy}{dt} + \frac{d^2y}{dt^2} \right) - 2 \left(\frac{dy}{dt} \right) - 4y = 0$$

$$\Rightarrow \frac{d^3y}{dt^3} - 4 \frac{d^2y}{dt^2} + \frac{dy}{dt} - 4y = 0 \Rightarrow$$

$$\Rightarrow \lambda^3 - 4\lambda^2 + \lambda - 4 = 0 \Rightarrow (\lambda - 4)(\lambda^2 + 1) = 0 \Rightarrow$$

$$\Rightarrow \text{BEN } \{ e^{4t}, \cos t, \sin t \}, t > 0$$

$$\begin{matrix} t = \log x \\ \Rightarrow \text{BEN } \{ e^{4/\log x}, \cos(\log x), \sin(\log x) \}, x > 0 \end{matrix}$$

ΑΕΚΙΕΤΗ 6i (ΟΕΔ 114)

$$x^2 y'' - xy' + y = 0, x > 0 \quad \left| \begin{array}{l} y(1) = 1 \\ y'(1) = 0 \end{array} \right.$$

ΛΥΣΗ

$t = \log x$ και παίρνουμε:

$$-\frac{dy}{dt} + \frac{d^2y}{dt^2} - \frac{dy}{dt} + y = 0, t \in \mathbb{R}$$

$$\frac{d^2y}{dt^2} - 2\frac{dy}{dt} + y = 0, t \in \mathbb{R}$$

$$\lambda^2 - 2\lambda + 1 = 0 \Rightarrow \lambda = 1 \text{ διπλά}$$

$$\text{Άρα, BEN } \{ e^t, te^t \}$$

$$y(x) = C_1 x + C_2 x \log x, x > 0 \quad \leftarrow \text{όλες οι λύσεις}$$

$$y(1) = 1 \Rightarrow 1 = C_1 + C_2 \log 1 \Rightarrow C_1 = 1$$

$$y'(1) = 0 \Rightarrow C_2 = \dots$$

ΑΣΚΗΣΗ 6 ii

$$(x-2)^2 y'' - (x-2)y' + y = 0, \quad x > 2$$

ΛΥΣΗ

Θέσω $u = x-2, \quad u > 0$

$$y'' = \frac{d^2 y}{dx^2} = \dots = \frac{d^2 y}{du^2} \rightarrow u^2 y'' - u y' + y = 0$$

Από την (6i) παίρνουμε για την ίδια διαφ. εξίσωση

$$\bar{y}(u) = C_1 u + C_2 u \log u$$

$$y(x) = \bar{y}(x-2) = C_1(x-2) + C_2(x-2) \log(x-2)$$

Αν δεν την είχε αυτή θέσω $x-2 = \log t$ κλπ...

ΑΣΚΗΣΗ 8 i

$$5x^2 y'' - 3xy' + 3y = x^{1/2}, \quad x > 0$$

ΛΥΣΗ

$$\text{Θέσω } t = \log x \Rightarrow 5 \left(-\frac{dy}{dt} + \frac{d^2 y}{dt^2} \right) - 3 \frac{dy}{dt} + 3y = e^{\frac{1}{2}t}$$

$$5 \frac{d^2 y}{dt^2} - 8 \frac{dy}{dt} + 3y = e^{\frac{1}{2}t}$$

$$\text{χρ.} \dots \quad 5\lambda^2 - 8\lambda + 3 = 0 \begin{cases} \lambda = 1 \\ \lambda = 3/5 \end{cases}$$

$$\text{ΒΕΛ} \quad \left\{ e^t, e^{3/5 t} \right\}$$

ΑΣΚΗΣΗ 9

$$x^2 y'' + 2y' + yx = 0, \quad y\left(\frac{\pi}{4}\right) = 0, \quad y'\left(\frac{\pi}{4}\right) = 1$$

Υπόθεση

$$\text{Θέσω } z = xy \Rightarrow z'' + z' = 0 \Rightarrow$$

$$\Rightarrow \text{ΒΕΛ} \quad \left\{ \frac{\cos x}{x}, \frac{\sin x}{x} \right\}$$

$$y_0(x) = \frac{1}{4\sqrt{2}} \frac{1}{x} (\sin x - \cos x)$$

ЗАДАЧА 11

$$x^2 y'' + 4xy' + (2+x^2)y = 0$$

МЕТ

$$x^2 y'' + 4xy' + (2+x^2)y = 0$$

$$x^2 y'' + 2x' \cdot y' + 2y + x^2 y = 0$$

$$(x^2 y)'' + x^2 y = 0 \quad \text{Обозначим } z = x^2 y$$

$$z'' + z = 0 \Rightarrow \dots$$